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€D, raditionner

Compléte ces tableaux.

B A AR
2 | 28

..... 56 | B3 98 | 102 88 | 96
70 79 128 | 180 286 | 290 642 | 650
15 | 24 93 | 100 490 | 494 566 | 074
121 | 130 47 54 56 60 982 | 990
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g Compléte ces tableaux.

2 | 92 68 | 108 36 | 66 155 | 200
92 | 12 254 | 204 6 | 96 280 | 330
140 | 160 632 | 672 s | A 568 | 6718
280 | 300 366 | 406 695 | 725 732 | 782

B Décompose les calculs. Sers-toi de I'exemple.

144 + 222 =100 +40 + 4 + 200 + 20 + 2 = 300 + 60 + 6 = 366

a Décompose les calculs. Sers-toi de I'exemple.

1623 + 2332 = 1000 + 600 + 20 + 3 + 2 000 + 300 + 30 + 2 = 3000 + 900 + 50 + 5 = 3955
2832+4164=2000+800+30+2+4000+1004+60+4%. ...
=6.000+900+90+6=089906. . e,
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